u(t) = m(t)c(t) = Am(t) cos(274 x10°t)
= A[Zcos(Z;r@t) +4 sin(27r@t + %)}003(27[4 x10°t)
T T

= ACOS(Zﬂ(4 x10° + @)t] + Acos(Zﬂ(4 x10° — —zoo)t]
a T

+2Asin(2ﬂ(4x103 +@)t +ZJ—2Asin(27z(4x103 —@)t —EJ
V4 3 V4 3

la va ouveyioouue, to SUokoAo onueio ival ta nuitova.
NapBdavovrac urt’ oyn 6t sin t = cos (/2 - t), -sin t = sin(-t) kaw 6t cos t = 1/2 e’ + 1/2 e 7" éxope:

2Asin(27r(4 x10° + @)t + 2= 2ASin[2ﬂ(4 x10° — @)t I
Vs 3 Vs 3
2Acos| Z —27(4x10°% + @)t ~Zly2acos| Z +27(4%x10° - @)t “Z=
2 Vs 3 2 Vs 3
2Acos(z —27(4x10° + @)t + 2Acos(Z +27(4x10° - @)t =
6 Vs 6 Vs
Ae j((7[/6)—27[(4><103+(250/7r))t)+ Ae j((n/G)—Z;z(4><lO3+(25O/;z))t)
+Aej((7[/6)+2/[(4><103—(250/7r))t)+ Ae—j((57r/6)+27r(4><103—(250/7[))t) _
Aei®) efj(Zﬂ'(4><103+(250/7z))t)+ INSCD! ej(Zn(4><103+(250/n))t)
PNCD) ej(27z(4x103—(250/7r))t)+ Ae- 119 e—j(zfr(4x103f(250/fr))t)
Ondte o MF Sivel:
Aelr® 5(1‘ +(4x10° + @)j Ae 1 §(f —(4x10° + @)]
T V4
+Ae!"® E[f —(4x10° - —250)j +Ae O 5(f +(4x10° - @)j =
T T
Aelt’® 5(1‘ +4x10° + @J Ae 1 5(f ~4x10° - —ZSOJ
V4 V4
+Ae! ¥ E[f —4x10° + @j Ae1t® 5(f +4x10° - @j
V4 T
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